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BHHEENRE BB E R TR (E B e S MEns st

% L] Hg - BIRHE AL % B B ® # m =
BRI 10, 600, 082
RETES 10, 600, 082
HER - EHEERE 10, 600, 082
HER - EHEERE 10, 170, 300
BREtETE 824, 400
1-1 /EtatE 1.00 117, 400 117, 400
=
1-2 EHINE - B 1.00 554, 000 554, 000
=
18 E7VUIHE 1.00 153, 000 153, 000
=
NS B EEEAS: 2,938, 450
1-4 RmEERL 1.00 1,733, 250 1,733, 250
=
1-b MEHH 1.00 639, 900 639, 900
=
1-6 FMETEHE 1.00 565, 300 565, 300
=
RERA % SR AT EEEAS: 3,390, 150
1-7 A - REEHRTE 1.00 243, 800 243, 800
=
1-8 P94 - EHEEREH 1.00 671,900 671, 900
=
1-9 BRIASREHETE 1.00 892, 350 892, 350
=
1-10 HEER 1.00 1,155, 500 1,155, 500
=
-1 #$EHE 1.00 426, 600 426, 600
=




BHHEENRE BB E R TR (E B e S MEns st

% # 3 - BT A Bifi o B & # # =

BETEREH EBLEE 384, 900

1-12 METEEEH 1.00 384, 900 384,900
e

HEAH DR ERILRE 414, 500

1-13 HBAH O 1.00 414,500 414,500
=

EIE &t LR FA AR 791, 050

1-14 HmEER 1.00 577,750 577,750
=

1-15 HEBEHE 1.00 213, 300 213, 300
b

EIE &t B 791, 050

1-16 RImEERL 1.00 577,750 577,750
e

1-17 HEEHE 1.00 213, 300 213, 300
=

B 243,700

1-18 MEEIERL 1.00 243,700 243,700
=

BE 100, 500

1-19 B&E 1.00 100, 500 100, 500
b

& - WS 291, 600

1-20 1##:& - & 4.00 72,900 291, 600
)

EEREE 429,782

EHARE 97,782




BHBEERNRE

LE#BFHRAMR(EBEFFHEDR

Bt

£ g - KSR B = fifi & &8 i
1-21 EXARE 1.00 97,782 97,782
=
BR 290, 000
1-22 EHBRER 1.00 290, 000 290, 000
=
BIREE 42,000
1-23 METERERE 1.00 42,000 42,000
=
EZHEE 426, 600
FE=ES 426, 600
BEFEHE 426, 600
BRERAE 426, 600
HEpmA = 110, 102
2-1 #Al 0.33 205, 131 67, 693
km
2-2 e mEREERL 0.33 78,107 25,715
km
2-3 SRR 0.33 50, 407 16, 634
km
i T 316, 498
2-4 #iA 0.33 647, 476 213, 667
km
2-5 tEMTERERL 0.33 207,412 68, 445
km
2-6 RRREE 0.33 104, 201 34, 386

km




BHEERER

LE#BFHRAMR(EBEFFHEDR

Bt

% g - AKTiE Bifr = fiff & #B
BRI 10,170,300 + 429,782 10, 600, 082
EEAGE 10, 170, 300
E#ERE 429,782
T At R i 10,170,300 x 53.85% ( 35% + (1 — 35%) ) 5,476, 706
KHRE 10, 600, 082 + 5, 476, 706 16,076, 788
—REEES 16,076,788 x 53.85% ( 35% = (1 — 35%) ) — 4,138 8,653,212
KB 16,076,788 + 8,653,212 24,730, 000
EENER 426, 600
ERE 426,600 x 91.2% — 5,659 383, 400
BIBELE 426,600 + 383, 400 810, 000
BB E TS 810, 000
BEHIEE 24,730,000 + 810,000 25, 540, 000
HBETEALE 25,540,000 x 10.00% 2,554, 000
EEIZE 28,094, 000




REAR-ET/Avr—> TR 2 o o 7 4 K (5 )5 1 S 4 R 3 5

H5:1-1
B EREHETE 1LY
2 Lo R - KT By B = B ff € &8 W E H %
FEHED (55
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
& it 1EZBER - 1.00 117, 400. 00 117, 400
&5 :1-2
B BRUNE - BEE XLy
2 Lo R - KT By B = B ff € &8 W E w %
FEHED (55
A 2.50 62, 200. 00 155, 500
HER (A)
A 2.50 55, 200. 00 138, 000
A (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 3.50 35, 600. 00 124, 600
& it EZBER - 1.00 554, 000. 00 554, 000
&5 :1-3
M ETVUIRE 1LY
2 Lo R - KT By B = B ff € B W E w %
FEHED (55
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
AR (C)
A 1.00 35, 600. 00 35, 600
& it EZBER - 1.00 153, 000. 00 153, 000




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

H5:1-4
& g K - BAIKTE B = B @ * & # H %
A (B)
A 4.50 45, 300. 00 203, 850
e (C)
A 15.00 35, 600. 00 534, 000
Hifrg
A 31.50 31, 600. 00 995, 400
& B EZBER - 1.00= 1, 733, 250. 00 1,733, 250
&5 :1-5
& BEFHE 1X&Y
& g K - BAIKTE B = B @ * & # H %
A (B)
A 3.00 45, 300. 00 135, 900
& (C)
A 7.50 35, 600. 00 267,000
Hifrg
A 7.50 31, 600. 00 237,000
& B EZBER - 1.00 639, 900. 00 639, 900
&5 :1-6
B EIEE 1X&Y
4 g K - BT B = B @ * & # w %
FEHED (B%E)
A 1.00 62, 200. 00 62, 200
e (A)
A 3.00 55, 200. 00 165, 600
A (B)
A 3.00 45, 300. 00 135, 900
& (C)
A 3.00 35, 600. 00 106, 800
Hifrg
A 3.00 31, 600. 00 94, 800
& B EZBER - 1.00= 565, 300. 00 565, 300




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

&H5 11
2% FIA - REEGHRTE 1Ky
2 Lo R - KT By = B ff € &8 # H %
FEHED (55
A 1.00 62, 200. 00 62, 200
HER (A)
A 2.00 55, 200. 00 110, 400
AR (C)
A 2.00 35, 600. 00 71, 200
& it EZBER - 1.00= 243, 800. 00 243, 800
&5 :1-8
B PR - B 1LY
2 Lo R - KT By = B ff € &8 # H %
FEHED (55
A 1.00 62, 200. 00 62, 200
HER (A)
A 2.00 55, 200. 00 110, 400
A (B)
A 5.00 45, 300. 00 226, 500
AR (C)
A 5.00 35, 600. 00 178, 000
Hifrg
A 3.00 31, 600. 00 94, 800
& B EZBER - 1.00= 671, 900. 00 671, 900
&5 19
B EARREEE 1LY
2 Lo R - KT By = B ff € &8 # w %
F{EHED (55
A 4.50 62, 200. 00 279, 900
HER (A)
A 4.50 55, 200. 00 248, 400
A (B)
A 4.50 45, 300. 00 203, 850
AR (C)
A 4.50 35, 600. 00 160, 200
& it 1EZBER - 1.00 892, 350. 00 892, 350




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

&S :1-10
£ 7 R - BIRTE BARL 2 B Of | # B &
HEn (B)
A 3.00 45, 300. 00 135, 900
A (C)
A 10. 00 35, 600. 00 356, 000
Hftt 8
A 21.00 31, 600. 00 663, 600
& fE%8EN ;1. 00K 1,155, 500. 00 1, 155, 500
= 1-1
2% WEHE =1
£ 7 R - BIRTE BARL 2 B Of | # B &
HEn (B)
A 2.00 45, 300. 00 90, 600
A (C)
A 5.00 35, 600. 00 178, 000
Hftt 8
A 5.00 31, 600. 00 158, 000
& fE%8EN ;1. 00K 426, 600. 00 426, 600
&S 1-12
2 BEISEERWH =1
£ 7 R - BIRTiE BAGL 2 B Of o # B =
HEm (B)
A 3.00 45, 300. 00 135, 900
A (C)
A 3.00 35, 600. 00 106, 800
Hftt 8
A 4.50 31, 600. 00 142, 200
& fE%8EN ;1. 00K 384, 900. 00 384, 900




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

&S 1-13
27 BEEHOMER =1
£ 7 R - BIRTE BARL #H = B i & # # B &
FEHED (55
A 2.00 62, 200. 00 124, 400
HEn (A)
A 2.00 55, 200. 00 110, 400
HEm (B)
A 1.00 45, 300. 00 45, 300
A (C)
A 2.00 35, 600. 00 71, 200
Hftt 8
A 2.00 31, 600. 00 63, 200
& %8N ;1. 00K 414, 500. 00 414, 500
&S 1-14
£ 7 R - BIRTiE BAGL #H = B i & # # B =
HEm (B)
A 1.50 45, 300. 00 67, 950
A (C)
A 5.00 35, 600. 00 178, 000
Hftt 8
A 10. 50 31, 600. 00 331, 800
& fE%8EN ;1. 00K 577, 750. 00 577, 750
&S :1-15
2% WEHE =1
£ 7 R - BIRTiE BAGL #H = B i & # # B =
HEn (B)
A 1.00 45, 300. 00 45, 300
A (C)
A 2.50 35, 600. 00 89, 000
Hftt 8
A 2.50 31, 600. 00 79, 000
& fE%8EN ;1. 00K 213, 300. 00 213, 300




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

&S :1-16
£ 7 R - BIRTE BARL 2 B Of | # B &
HEn (B)
A 1.50 45, 300. 00 67, 950
A (C)
A 5.00 35, 600. 00 178, 000
Hftt 8
A 10. 50 31, 600. 00 331, 800
& fE%8EN ;1. 00K 577, 750. 00 577, 750
&= 1-17
2% WEHE =1
£ 7 R - BIRTE BARL 2 B Of | # B &
HEn (B)
A 1.00 45, 300. 00 45, 300
A (C)
A 2.50 35, 600. 00 89, 000
Hftt 8
A 2.50 31, 600. 00 79, 000
& fE%8EN ;1. 00K 213, 300. 00 213, 300
&S :1-18
B MESER =1
£ 7 R - BIRTiE BAGL 2 B Of o # B =
FEHED (55
A 1.00 62, 200. 00 62, 200
HEn (A)
A 1.50 55, 200. 00 82, 800
HEn (B)
A 1.00 45, 300. 00 45, 300
A (C)
A 1.50 35, 600. 00 53, 400
& &t fE%8EN ;1. 00K 243, 700. 00 243, 700




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

&5 :1-19
& g K - BAIKTE B = B @ * & # H %
e (A)
A 1.00 55, 200. 00 55, 200
e (B)
A 1.00 45, 300. 00 45, 300
& B 1EZBER - 1.00 100, 500. 00 100, 500
5 :1-20
& - BE 1MmEY
4 g K - BT B = B @ * & # w %
e (A)
A 0.50 55, 200. 00 21, 600
e (B)
A 1.00 45, 300. 00 45, 300
& B {EZ8ER - 1.00mE 72, 900. 00 72,900
= :1-21
&% FHARE 1X&Y
4 g K - BT B = B @ * & # w %
EBERAME
= 1.00 97,782.00 97,782
& B EZBER - 1.00= 97,782.00 97,782
&5 :1-22
& EBRERER 1X&Y
4 g K - BT B = B @ * & # w %
EBHRRRE
= 1.00 290, 000. 00 290, 000
& it EZBER - 1.00= 290, 000. 00 290, 000




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

5 :1-23
& ELRRERE B
% FR A& - IR B 2 B i bl 1 w =

MEIERERE

= 1.00 42,000. 00 42,000
a i 1E%X8ED - 1. 00K 42,000. 00 42,000
H5:2-1
%fﬂ'\ﬁiﬁﬂ 1kmé'|U

% FR & - IR B 2 B i bl 1 w =

= HeEm

A 1. 60 44, 000. 00 70, 400
SRR

A 1.80 34, 300. 00 61,740
REBF

A 1.40 32, 200. 00 45, 080

% 2.50 177, 220. 00 4,430
MHE

% 3.00 177, 220. 00 5,316
REEEE

R¥ 0.10 181, 650. 00 18, 165

a i EZEHEH : 1.00k m 205, 131.00 205, 131




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

55 :2-2
2 - HEETERERL Tkm%y
2 Lo R - KT By = B ff | # H %

B S HER

A 0.70 44, 000. 00 30, 800
B = H AR

A 0.60 34, 300. 00 20, 580
BIEBNF

A 0.50 32, 200. 00 16, 100

% 2.50 67, 480. 00 1,687
MHEE

% 3.00 67, 480. 00 2,024
REETEE

RE 0.10 69, 167. 00 6,916
& it 1E%HBEH :1.00km 78,107.00 78,107
H5 :2-3
B RREE Tkm%y
2 Lo R - KT By = B ff | # H %

B S HER

A 0. 60 44, 000. 00 26, 400
B = H AR

A 0.50 34, 300. 00 17,150

% 2.50 43, 550. 00 1,088
MHEE

% 3.00 43, 550. 00 1, 306
REETEE

RE 0.10 44, 638. 00 4,463

& it 1E%HBEH :1.00km 50, 407. 00 50, 407




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

BHE 24
2 - &R Tkmy
£ 7 R - KT By = B Of | # B &
B S HER
A 6. 40 44, 000. 00 281, 600
B = H AR
A 7.20 34, 300. 00 246, 960
BIEBNF
A 5.30 32, 200. 00 170, 660
% 2.50 699, 220. 00 17,480
MRE
% 3.00 699, 220. 00 20,976
REETEE
RE 0.10 716, 700. 00 71,670
pd[ &
= 1.00 -161, 870. 00 -161, 870
& B 1E%HBEH :1.00km 647,476.00 647,476
H5 :2-5
B EETERER Tkm%y
£ 7 R - KT By = B Of o # B =
B S HER
A 2.20 44, 000. 00 96, 800
B = H AR
A 2.30 34, 300. 00 78, 890
BIEBNF
A 1.50 32, 200. 00 48, 300
% 2.50 223, 990. 00 5,599
MRE
% 3.00 223, 990. 00 6, 719
REETEE
RE 0.10 229, 589. 00 22,958
pd[ &
= 1.00 -51, 854. 00 -51, 854
& B 1E%HBEH :1.00km 207,412.00 207,412

10




Rifiz -/ \v7r—o

L SERREPREMX(E B EE SR

H5 :2-6
B RREE Tkm3zy
2 Lo R - KT By = B ff ol | # B &

B = AR

A 1.70 44, 000. 00 74, 800
RIS AN

A 1.10 34, 300. 00 37,730

% 2.50 112, 530. 00 2,813
MRE

% 3.00 112, 530. 00 3,375
REETEE

RE 0.10 115, 343. 00 11,534

pd[ &

= 1.00 -26,051. 00 -26, 051
& B E%EBEN :1.00k m 104, 201. 00 104, 201
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